Question No : 1 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

The assembly mstruction to put the walue of A3 on the stack 15

Answer | Please select your correct option )

PUSH A3
& correct
Mov Stack, A
ADD AX
SEND A%
Meade By: Wager Siddha




Question No : 2 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

TWhich bit of the attnbutes byte represents the red component of foreground color

Answer | Please select your correct option )

5

4

3

- i
Yhade By: Wager Siddhua




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) =

The clear screen operation mitializes whole block of mdeo memory to

-

Answer | Please select your correct option )

0417
.
0741
-
0714
.
0174
.
Meade By: Wager Siddha




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) =

In the execution of the mstruction “REP STOSE” 3TOSE will repeat itsell

-

Answer | Please select your correct option )

AT tirnes
BX times
CX times
correct
DX tirnes
Weade By: Wddgelr Siddha




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

By executing which of the followmg mstruction, the value m A% register becomes double of previously stored walue ?

Answer | Please select your correct option )

Shl A3, 1
& COrrect
Shr 4301
NOT AX
AND A%, 0xFFFF
Meade By: Wager Siddha




Question No : 6 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

In the statement “Numl: dw 57, 5is stored in memory as {on Intel-based machmes) :

Answer | Please select your correct option )

s 0005
5 0500
correct
5
005
Meade By: Wager Siddha




Question No : 7 of 26 Marks: 1 (Budgeted Time 1 Min) =

In the mstruction “CWF A B3 the contents of =

Answer | Please select your correct option )

AZ are changed
o
B are changed
-
CX are changed
-
Flags register are changed
o
Made By: Wegdar Siddhu




Question No : § of 26 Marks: 1 (Budgeted Time 1 Min) =

-

The mammum parameters a subroutine can recerve {with the help of regsters) are

Answer | Please select your correct option )

53
. 7
COITRC
8
- 9
Weade By: Wagelr Siddhu



Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) =

To convert any digit to its A3CI representation

-

Answer | Please select your correct option )

Add 0230 in the digit

o
COITECI

Subtract 0x30 from the digit
-

Add 061 in the digit
-

Subtract O0x61 from the digit
o

Yhade By: Wagelr Sicddha




Question No : 10 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

"When a very large number 1z dwided by very small number so that the quotient 1= larger than the space prowded, this 15 called

Answer | Please select your correct option )

Divide logical error
o

Divide overflow error
(- =g

correct

Divide syntax error
-

An illegal instruction
o

Wade By: Wager Siddha




Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) =

In the prirmitive form, the block processmg mstruchions operate on

of memory at one time

-

Answer | Please select your correct option )

Wheole block
o

A single cell
-

correct

A single bit
-

TWhole segment
o

Yhade By: Wagelr Siddha




Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

In string manipulation whenever an mstruction needs a memory destmation, which of the following will hold the pomter to 1t?

Answer | Please select your correct option )

’ correct hade By: Wagar Siddha




Question No : 13 of 26 Marks: 1 (Budgeted Time 1 Min) =

In A4FB4272 Segmentoffeet par the physical address 15 (both segment and offset are in hexadecimal): -

Answer | Please select your correct option )

A4FRO
04872
ASRZZ
correct
A4BT2
Meade By: Wager Siddha




Question No : 14 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

TWhich bit of the Attribute Byte (counting from night to left, starting from 0% represents the BLTE component of foreground color?

Answer | Please select your correct option )

3

2

1

- 0
Made By: Wdagedr Siddha




Question No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

Each screen location corresponds to m a video memory.

Answer | Please select your correct option )

One Byte
o

Two Bytes
-

correct

Four Bytes
-
- Eight Bytes )

Wade By: Wager Siddha




Question No : 16 of 26 Marks: 1 (Budgeted Time 1 Min) =

“When a 16 bit number 15 divided by 8 bit number, the quotient will be stored m -

Answer | Please select your correct option )

‘ correct
‘ Made By: Wagar Siddha




Question No : 17 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

The LAP3 B8 processor supports memory addressng modes.

Answer | Please select your correct option )

‘ correct
‘ Made By: Wagar Siddha



Question No : 18 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

The operation of 15 to subtract the source operand from the destmation eperand.

Answer | Please select your correct option )

ADDI
JNC
CMEF
correct
JNZ
Meade By: Wager Siddha




Question No : 19 of 26 Marks: 1 (Budgeted Time 1 Min) =

If'the decmmal number "35" 15 shifted by two bits to left, the new value will be -

Answer | Please select your correct option )

correct
v
’“ Made By: Wagar Siddha



Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) =

While using STOSW, if DF=0 then

-

Answer | Please select your correct option )

The value of 5T will be incremented by one
o
The value of ST will be incremented by two
-
correct
The value of ST will be decremented by one
-
The value of 51 will be decremented by two
o

Meade By: Wager Siddha




Question No : 21 of 26 Marks: 2 (Budgeted Time 4 Min) =

-

What does the instruction "1ds si, [bp+4]" de?

Answer | Please click here to Add Answer )

B S e e N A A e |
[Fiarmel | =z EH e raEe=2] == ==

point ds:sf to the first string

, Weade By: Wager Siddha




Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) =

TWnte down the procedure to clear the selective bit.

Answer | Please click here to Add Answer )

B S e e N A A e |
[Fiorima | =z EH e raEe=2] == ==

which bift we want convert into zero we make and opration on it whic

value we want to covert into zro we apply and opration wilth value @ f

ofther valuse fil with one.
, Weade By: Wager Siddha




Marks: 3 (Budgeted Time 6 Min) =

-

Question No : 23 of 26

How strimg mstruction work on a block of data?

Answer | Please click here to Add Answer )

B S e e A A e |
INDrmaI ;IIAr\aI ;”12 LI B 7 H‘EE == &

=

Meade By: Wagar Siddha




=

Marks: 3 (Budgeted Time 6 Min)

Question No : 24 of 26

"What 15 wrong with this program?
bubkle zort subroutine taking parameters from stack

H

[org 0x=0100]

e
==
==

5

Answer | Please click here to Add Answer )

=T

B S e e A A e |
;IIAr\aI LI B 7 H‘EE

INDrmaI

Meade By: Wagear Siddha




=

Marks: 5 (Budgeted Time 10 Min)

Question No : 25 of 26

In case of branching techmiques used m Intel’s architecture, which mstruction is used to provide temporary diversion and how?

==y

Answer | Please click here to Add Answer )
2 SN = [ W e e 8 e Y e |
iz = s s ufEE= ==

;I I Arial

INDrmaI

Meade By: Wagar Siddha




=

=

Marks: 5 (Budgeted Time 10 Min)

Question No : 26 of 26

“What will be the affect of executing REPE and REPNE mstructions on zere flag? With which mstructions you can use both of these REFE and REPNE prefizes?

==y

Answer | Please click here to Add Answer )
2 SN = [ W e e 8 e Y e |
iz = s s ufEE= ==

;I I Arial

INDrmaI

Meade By: Wagear Siddha






